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Bachelor of Science (Honours) Agriculture/B.Sc. (Ag.) and MBA (ABM) Part-II
Examination of the Four/Five-Year Degree Course, 2018-19

SEMESTER-1I
CROP PRODUCTION TECHNOLOGY-II (RABI CROPS)
(AGRON-221)

Time : 2 Hours
Section—1I :10

Maximum Marks : 70
Section—I1 ;: 60

Attempt all questions.
Answer of Question No. 1 and 2 be written in the space provided alongwith the questions
in Question-booklet. Answers of Question Nos. 3, 4, 5, 6 and 7 be written in
the Answer-book provided for writing answers.
In case of any discrepancy in English and Hindi versions of the paper,
only the English version be taken as correct.
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SECTION -1
qug - |
Time : 20 Minutes] [Maximum Marks : 10

The Objective part (Q. Nos. 1 and 2) is to be covered in the Question paper itself and would be
collected by the invigilator after 20 minutes of the commencement of the examination.
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1. Choose the correct answer and write the number of correct answer 1 or 2 or 3 or 4 in the squar®
given against each sub-question. (10%0.5=5)
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@  Which of the state has maximum productivity of wheat ? D

(1) Haryana

(2) Utar Pradesh

3 Madhya Pradesh

(4) Punjab.
sﬂﬁﬁmmﬁﬁiﬁmmmﬁmé?

(4) dIEl
(ij) From which height, nipping is done in chick pea’ D
(1) 1520 cm height
(2) 25-30 cm height
(3) 35-40 cm height
(4) None of the above.
aﬁﬁsﬁﬁqdmaﬁmﬁaﬁmmﬁwﬁ??
1y 15-20 ¥ H
() 25-30 ¥ Eo ]
(3) 35-40 T £l
@ A wE T
(i) First irrigation in barley should be given at [:]
(1) 21 days
(2) 35 days
3 30 days
(4) 40 days.
< 3§ eeh faeré ¥ =ML
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(iv)

(v)

(vi)

Which of the following crop is mainly infested with painted bug? []
(1) Pea

(2) Mustard

(3) Wheat

(4) Chick pea.
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The optimum temperature for the proper maturity of wheat is D
(1) 20°C

(2 22°C

(3) 25°C

4) 35°C.

R # v foe e Ay @

(1 20° ¥

2 220 ¥z

(3) 25° ¥

4 35 ¥

Which of the following setts of sugarcane is most suitable for sugarcane
sowing?

(I)  Two buds or eye setts
(2) Three buds or eye setts
(3) Four buds or eye setts
(4) Five buds or eye setts.
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(vii) Priming is mainly done in which of the following crop? E|
(1) Tobacco
(2) Sugarbeet
3) Isbgoal
(4) Opium pOppy:
o ¥ fra wEa § TR fafiy s S @2

(viii) Which of the herbicide controls orobanche in mustard? D
(1) Pendimethalin
(2) Isoproturon
3) Glyphosate
4) Alachlor.
ﬁﬂﬁm—mm,mﬂmﬁmmi?

(ix) Imezathapyr is a [j
(1) Insecticide
2) Fungicide
3) Herbicide
(4) None of the above.
iR ¥ OF
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(x)

To break the dormancy in potato which of the following chemical is used? _l
(1) Potassium sulphate

(2) Thio urea

(3) NAA

(4) Auxin.

T A FH-U WEA, A W G e dgd B HW A 22

(1) veIfEe gehe

2 9@ gRE

(3) wRu

(4) 3w

2. Fill in the blanks : (10x0.5=5)
fia T #1 9 FfC

@

(ii)

(iii)

(iv)

The author/authors of the book entitled "Crop Management under Irrigated and Rainfed
I B et st ssessasaéscntsssssivsasesssroron

“@wm R sve 3fifes TE TeE FERH TEE @ dEs/a@smTol
..................................................... (4

.................................................... acid.
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(vi) The optimum seed rate for luceme iS .........commciminiiininns kg/ha.
fom & fau 3fam 9 T e foredaRar ?i

(vii) Adsali planting of sugarcane is done in which part of the COuNry .....c.ccoovvvvrniincrinnanne.
M fF0 9§ T B AIIER TAE BT A R s seneesienean

(viii) Pea grain contains ... % protein.
TR WA it wfewm 9N e 2

EERY L icseoninipunshossnistsnssaii it A state has maximum area of mustard.
.................................................... T 4 T # e R a9 )

(A) " CHUOR I R VIEIRY OF vt ntruscorirespsssrasensossonsis crop.
L S A, wge # e R
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Bachelor of Science (Honours) Agriculture/B.Sc. (Ag.) and MBA (ABM) Part-II
Examination of the Four/Five-Year Degree Course, 2018-19

SEMESTER-II
CROP PRODUCTION TECHNOLOGY-II (RABI CROPS)
(AGRON-221)
SECTION - 11
qus - 11
Time : 1 Hour 40 Minutes] [Maximum Marks : 60

The Subjective part (Q. Nos. 3, 4, 5, 6 and 7) is to be covered in the Answer-book provided for
writing answers. The Answer-book would be collected by the invigilator when the candidate
finishes as per rules.

The question paper containing the Subjective part can be taken by the candidates alongwith them.
forea W (Y9 W@ 3, 4, 5, 6 W6 7) B IW A W sw-gfaw ¥ e 8 sw-ghaw
el g TE-9 O B AR THawE g FEmaar @ o s
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3. Define the following : (5x1=5)
frafafaa = sftafva #ife -

(i Nipping.
ifa
(i) Blind hoeing.

=it Sl

(iii) Pulses.
TE |
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(iv) Cereals.
Hga|

(v) CRI
Y. 3TR3TE. |

4. Differentiate the following :
frefafaa 4 sR FIfT :

(i) Nutrient requirement of chick pea and mustard.
T Td W F U el

(ii) Climatic requirement of potato and sugarcane.
T 3R 3R B oAy eIl

5. Write short notes/comment/justify the following :
frefefaa =t daw & feopfad/aren sifsg :

(i) Malting quality of Barley.
N # "

(ii) Advantage and disadvantage of ratooning in sugarcane.
™ # IS * AN @

6. Explain any two of the following three questions in 1-1%2 pages.
frafofaa @9 ol 8 @ fRdl & & W 1-1% T H S

(i) Intergrated weed management in wheat and barley.
% ik St ¥ wafEn wrw@ER FEE
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(iii) Plant protection measures in mustard.

T ® 9 e % 3uE)

7. Explain/describe in detail any two out of the following three questions in 2-3 pages. (2x10=20)
frefafaa dF oAl 9 @ fRdl & @ 3w 23 9 | S

(i) Describe the wheat cultivation under following heads :
frafafas fagall ® 1 1 @@t & fawr ¥ 7o X
(a) Improved varieties.
I fre
(b) [Irrigation management.
foar ya=m
(c) Nutrient management.
ed dw SEEE|
(d) Sowing time.
qTH T FEE

(ii) Write down the package and practices of pea.
TR # Y9 @ I e @ o foar 8 ferd)

(i) Write about the package and practices of Isabgol.
 fgaia # YW T I fafel @ AR o faem @ fe
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